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*L A company that produces light bulbs is concerned
about the distribution of the life'expectancy of the bulbs.

The company takes a simple random sample of 100
bulbs and computes the sample mean to be 950 hours

per bulb. meﬁ\. A\ = \0D Vv
a.

mean life expectancy assuming that the sample standard
deviation was 30 hours. (Tncivde of _oSpedsS
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Construct® 95% confidence interval for the unknown

“):. ey a\

g2l )
L ss 3
acroo)

JMT‘. AW\ W

O CoerReTY -
Pocaxneer -(P') v

of \reocs o M
#b.,\so \aSHS

v

We ox<e
as-.

s.o5)) ©

2" anok Mo

e foc
S \&:a:m;r%\é f

-3
\g%?;;:q vs \auan( e




—Yoes of CT Trherve\S

/ ™~
Buacirahve. Coeapercol




